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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) . Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOy : @eueleamsseT BrenE LGHsmar AsTam g

Note : This question paper contains four parts.

'u@Q -1 /PART-1

@My : () Slmenssl lamssEéELD eenLweflése, .

- 14x1=14

() .Qsr@ssiulL Breng oo seild Blsab ghyemLw eleulaman

Gsi0s0s8 GHWILHL6m el ulemanyd Ceigg 6r(psa.

Note : (i) * - Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write

. the option code and the corresponding answer:.
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1. I\’—"J“. 2’ 3. 4, 5] “ag(fbﬂigl 3 GT'éiTm &mi},(ﬂfb({b 1024 ”,,{T)‘:\[ﬂxﬁh U,mﬁ"ﬂ 67’53“‘6' I &)
edtan e puseien ora@naflhams
() 3 (<) 2 (@) 4 - m) B

If there are 1024 relations from a set A={1, 2,3, 4,5 toset B, then the nurmber of
clements in B is :

(a) 3 by 2 . (c) 4 (d) /8

2. R={x 2)/x -z 13 -g s Geparar LsT cansaT cra) 2MElldn aIFFSDTETE]

(=) 12,3,5,7) () 2.3,5,7, 11
(8) 4,9, 25,49, 121} (%) {1, 4,9, 25,49, 121)

The range of the relation R={(x, x2)/x is a Prime number less than 13) is :
(@) {2,3,5,7) b)) 2,8.5.7. )

(c) {4,9,25,49, 121 ' (d) Ab 4 0 3549, 1211

3. 1729 - wand snyefluupann Curs g uss carsafla s imaailan s s -

(20) 1 (<) 2 (&) 3 (rr) 4

’_Thc sum of the exponents of the Primc factors in the Prime factonzation of 1720
is :

(a) 1 BINR () 3 () 4

4. (lj)dﬂg)l LDrTﬂS]H)GﬂG.\) .axmm;ri»g., Q;M&nf_gf C;\ Nusdy supany (pmartiaar v.»w‘ Wup vf‘J B, ;’f””l" ot
@oamawaile, g@sn@E nba ma gaad

AT
(=) @G em ydafla Gan Héam 09”
o
(<) @Cr e Camigd QanHéldma AN yer?
\,’\ (o]

NI

(@) gaden Bg @amy Quamisid Y
(/). eeamepQuretm QaulLng

A system of three linear equatons in the threc vanables is inconsistent if their
planes :

(a) * Intersect only at a point

(b) Intersect in a line

(c) Coincide with each other

(d) Do not intersect
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3
x+y—-3z=-6, —~7Ty+7z="7, 3z=9 eranp QgmELnden giray :

(@) x=1, y=2, z=3 (@) x=—1, y=2, z=3
(@) x=-1,y=-2, =3 (F) x=1, y=-2, z=3
The solution of the system x+y——32= —‘6, —Ty+72=7, 3z=9 is :
(a) x=1, y=2, z=3 (b) x=-1, y=2, z=3

(c) x=-1,y=-2, 2=3 (d x=1,y=-2, 2z=3

1 RO
SpssaTLaIdDET o8l Yo+ —5 -b@é swb Gdma ?
) Yy

= ]
of-ifv e

1
y2+— is not equal to :
y2 -

Wy ivi
W.Jkatvze:{p ress.in
V ‘ v . i

el : . [+1T
@ ‘ b iy
2 V 1'2
e

AABC -u9é DE|IBC AB= 3.6 Q.18 AC = 2.4 Q.18 mgbng‘AD=2.1 Qz.18 crafled
. AE -uQen fBerid &
(@) 1.4 Qa8 (=) 18088 (@) 1.2 Qs (F) 1.05 Q&8
If in AABC, DE||BC, AB=3.6 cm, AC=2.4 cm and AD=2.1 cm then, the length of
" AEis: ' , .
(@) 1.4 cm b 18cm = (g l2cm (d)  1.05 cra
[ @Liys / Turn over
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11.
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QUL L gdlen Qmaﬂuqmu qm@ﬂuﬁ]oﬁ]@p@ Ul LEENG THSD @grr@@a;rr@arm

euenwemd 9

(=) gom | (<) @reim®

(8) pyaudp erameflsms (F) WHGwD -

How many tangents can be drawn to the circle from an exterior point ?
(a) one (b) two

(c) .infinite (d) zero

3x—y=4 wHmbd x+y=8 Y CriGsrHser 5&,5\&5@& Leertl -

(<) 5,3 - (<) (2, 4) (@) 3,5 () (4 4)
The point of intersection of 3x—y=4 and x+y=8 is :

(a) (5_, 3) b) (2, 4) (€ (3,5 d @ 4

Ge;rm.@g@em@ PQ -uder &rru_lm T erafléd PQ a;@ Q&m@gg,rrm @@&m Qem..mﬁ]em

FTiey ‘ “W ess.
R ¢ s w B ai}_’ A
Lo \w 1 i
(=)E . (@B @) - (m) 0
If slope. of the line PQ is % then, slope of the perpendicular bisector of PQ is :
7 N . , ‘
(a) V3 (b) -3 o) = (d) O

B

@t gflufer GoGa h 15 2 wrgded 2dmer e@m Yeralulamng CussdneE o drer,
ej'gbg)é;CS&rerb B. Gwa WYbusHear @n&s&Garand 45° erafled grMudled @@;55__51
Guss8h@E 26T o Wrloreang) (L&_t_rﬂeu)

“h(1 + tanB) h(1 — tanp)
(R 1- tanp : (@) =77 tan
(@) htan(45°-8) - (/) QeupmieT ergib Gdeame

The angle of elevation of a cloud from a point h metre above a lake is p. The aﬁgle
of depression of its reflection in the lake is 45°. The height of location of the

" cloud from the lake (in meters) is :

o hl+tnp) . h(l - tang)
1 - tanp 1+ tanp

(c) htan(45°—B) , (d) None of these

.- Send Question Paper ,Answer Key-kalviexpress@gmail.com
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@ 2 (Henemuliei 2 WFE@MS LIHDHIDD DS 2Tl UTHLNss G]s;rrawr@ ysw

2 Hever 2 (heurssLLGEDg. L wpmid (prrr,em;_;;u_) 2 (meneTgatien Heanslereysaflen
aﬂeﬁlgm

(=) 1:2 (e'}cb)i:4 ‘ (@) 1:6 (F) 1:8

If ’_che radius of the base of a right circular cylinder is halved keeping the same
height then, the ratio of the volume of the cylinder thus obtained to the volume of

“original cylinder is :

. (a) 1:2 (b) 1:4 (c) 1:6 (d 11:8

WW W, kai\néxpx ess. n

Qi é‘imua&@a;rrmg,@em QLorrgg,uuuul_; DS .g:br,r@ﬁ@]ml_u_l QUT&ESSS 6
DL BISTGLD. -

(1) (@) 4 (@) am (m) on

The total surface area of hemi-sphere is how much times the square of its
radius :

(&) (b) 4w (¢) 3w d 2m

R UsS55S 0 ([hbgl FoeumiiL apuild em ussD CobEsHEsILRADG. 2ibs
L&s eramTaniien @epmd @L wiHlurearg 7 -@ s Gapeurs @) mLILSDHETer
Hlapssalrag) :

O

s @ @3 (m)

A pége is selected at random from a book. The probability that the digit at units

* place of the page number chosen is less than 7 is :

(@) — b — (©) (d)

O|w
(RN
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15.

16.

17.

18,

19.

20.
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28 -&5& .
oLuasseid. e .28 rom2-20
sLLmuwrs efenwafll&sad.
Answer any 10 ques'aons Questmn No. 28 is compulsory
AXB=(3, 2), (3, 4), (5, 2), (5, 4)) rafléd A pyd B - ST
If AXB={3, 2), 3, 4), (5, 2), (5, 4)} then find A and B.

A=, 6}, B={4, 5,6}, C=(5, 6, 7} eraflép AxA=(BXB)N(CXC) eTan& 5”'—65- '
If A={5, 6}, B={4, 5, 6}, C={5, 6, 7). Show that AxA=(BXB)n(CxC).

wse 10 @UJGU cTmEaTTe) Lﬁ’g‘,]umsmjl @J@I_II_ES galg Wl S T gl ?
Find the least number that is d1v151b1e by the first ten natural numbers.

—-11, - 15, —A19, .......... ) &L@g, G]g,rrl_rr @Jrﬂm&uﬂ]m 19 @Jg.] &{QJU@DL’& SIS,
Find the 19t term of an AP. =11, =15, =19, ..cc.o....
W\N\;&h ‘w ﬂ\fl@a““'esh’

400 x4y12216 . in \ ;
Wr-@ﬂ QUTESEpLD STams.
Xy z

400 x*y12 416

Find the square root of W;

ABCD GI'G(ST[D em slaussded AB|DC wHmb P, Q ereamua wpenGW L& &6
AD wpmb BC -uler 1Bg &mm‘m@meﬂ um@tﬂaserr G (ELDQJLD PQ||DC
PD=18 Qz.18, BO=35 Q&.18 wpmib QC=15 @&..5 erafléb AD -3 srems.

 ABCD is a trapezium in which AB||DC and P, Q are points on AD and BC respectively,

21.

such that PQ||DC. If PD=18 cm, BQ=35 cm and QC=15 cm find AD.

A(-1, 2), B, —'2) whmd C(7, 4) Cfgbélujmgj)m,r_o auflewgwrar evarliLerelserTas
Qs mewTL (y)é;(f,’a;rrmg.é,\sh LpliL 22 &5IT Si@se erafled K -uler WAy srars.

If area of triangle formed by the vertices A(—1, 2), B(K —2) and C(7, 4) 1s -
22 sq.units, find the value of K. »

-Send 'Questidh Paper ,Answer K ey-kalviexpress@gmail.com
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23.

24.

25.

26.

27.

28.
" Find the value of x, in x2—4x—12.
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. 7
—2), (12, 4) erap Leraflger cufl& Qeogid CrrsGar® P Hmib (6, —2) Lorfjigij
(12 2) eremm yeraflger euldlF Q&GUQ]LD (2;_5rra;(35;rr® q<YGWb. p %m@ q -5®

Qeemmr@or ?
The line p passes through the points (3, ‘_2), (12, 4) and the 1in<_3 q passes thro‘ugh
the points (6, —2) and (12, 2).' Is p parallel to q ? i

6512

(5, V5) wHDIb YHLeTefsmar GaarsEn CrrECHT g6 sTUeals &Tes.

Find the slope of a line joining the points (5, /5) with the origin:

10V3 8 = wipaparar (Sa;rrqggg‘,]sm <21queSmHs 30 8 @grremuaﬁ]eu sanudled 2 eirarm
R umaﬂuﬂe&(@pg Ceryrglen o &8luflan erp&Canransamss Sres.
Find the angle of elevation of the top of a tower from a point on the ground which

is 30 m away from the foot of tower of height 10\/_ 3m. - s
WW W, Kalviexsress.in

704 §.05.15 GorgsL qg)uuguq Qe e 6w SabGctr <2yib 7 Q. S eraféd, oigen

FTWYWTLD SHTEHTS.
If the total surface aréa of a cone of radlus 7 cm is 704 cm?, then, find its' slant .

height.

QR a@@muﬁ]a"ﬂ <7D LD['DQIL.D. o wpisaflen elfsn 5 : 7 G LD. ;gqg,@'ﬂ cueneTLILIL
5500 &.Q&.15 erefled &@mmuﬁ]s&r <7D Lo'rj)gij 2 WIFD &ITaTs.

The radius and height of a cylinder are 1n the ratio 5 : 7 and its curved surface
area is 5500 sq.cm. Find its radius and helght

e enudled 5 Fleuliy Bl u(@gﬂa;@l.b,ﬁ Q_eudm»m Bimt LbEISEHD, 7 LFens Hpls
LIbgIEEHLD, 8 SMmLIL| BHlpL u(@g,ja;@d) > Grera. &Loeurruhuq wpappudled wuuﬂaﬂ@ﬁ)gj
B0 Upgs TOEELLGADE. b5 g (i) Caudtear (i) sELY am@ Heutiy
-6 Q&S Hapssmaels Sreamns.

A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls. One ball is
drawn at random from the bag. Find the ‘probability that the ball drawn is :

\ (1) ‘White - (11) Black or Red

x -&7 HLIwLE STems. x2—4x—12.

. [ Q@ﬁluas / Turn over
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UGS - I / PART - III
GOy : steweuCuenid 10 efamésEnsE oL walbaab. alan oram 42 -&@
, SLLMULDNE enLwefl&Esa]Lb. 10x5=50

Note : Answel any 10 questions. Question No 42 is compulSOfY
29. Qer@&sUulL 2 payser @eaiblauraieampub. '

(i) <bysEMH UL

(ii) euenguUL LD

(i) ulywe wenpule GHES

{x, Y/y=x+3, x, y YFweneu @u.ld) eremaar <10}

Represent the gix}en relation by :

(i) an arrow diagram WAV ;&dlv jiexpres
(ii) a graph and :
(iii) a set in roster form, wherever possible -

{(x, Y)/y=x+3, x, y are natural number <10}

30. 1230 wpHmb 1926 égbéﬂu_l GT GUT &GN I a.l@a;@m@urrgu B4 12 -g6 g,r,ra;a’mq_u_l
WsLEQURW eTerTenemTss. SmenTs.

Find the largest number which divides 1230 and- 1926 leaving remainder 12 in
each case.

31. ® &L@BS Qsrireafloslier gearLgmeg &gﬂuﬁ]s&r QRETLIG DL MBIGLW,
ufaanpsreig 2 mlider LUfmahsg WLEGD sob aafld @muss BrasTes)
o mlner @y wLhisTeg LEAWUD eran Bimies.
If nine times ninth term is equal to fifteen tlmes flfteenth term show that six
times twenty fourth term is zero.

32. smbes: D *3p-28 b2 - 49
b2 +4b+4 b2 - 5b- 14
.o b% 4+ 3b - 2 _
Simplify 2+ 28 . b -49

b2 +4b+4 b2 -5b- 14

- Send Question Paper ,AnsNer Key-kalvi express@gmail.bom
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34.

35.

36.

37.

38.

39.
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9
K —12x3+42x2-36x+9 erenudlen auiiGHApRD HTeTs.
Find the square root of x* - 12x3+42x2~36x+9.

@S wopuler x2+2x-2=0 -mé Sissayd.
Solve x2+2x—2=0 by Formula method.

Gerenr @meweul g Capméems eripd HpAssajib.

State and prove Angle Bisector Theorem. . ( R
www. kalviexpress:d "

@0 wallgar 18 8 HwsGs Qsary Geanant 24 B8 au 6Cs Qswdpren. sT 55

Hlevauwldmba <ieum QmeEn CaTamnmelsd STamms.

A man goes 18 m due east and then 24 m due north. Find the distance of his
current position from the starting point.?

8, 6), (5, 11), (=5, 12) wpmbd (—4, 3) YW Leraflsemer (pameanserTas Qamramr
BrosrsSen uTly STams. ' : '

Find the area of the quadrilateral formed by the points (8, 6), (5, 11), (=5, 12) and
(=4, 3).

@i Seumeiw 65 igpE deueflliie HlamGsrem® m senanellen 2 &8 LHMID
Sy s Swapenp @erpGu 60° wpmId 45° < fu gopsCaranisaile sramdpm.
ieuflan e wib 180 @&.18 Cuabd 6§ yadl@hg 5 5 Ograeeild e e drarmt
erafleh) enanahlan 2 WSS S, (V3=1.732)

To a'man standing outside his house, the angles of elevation of the top and bottom of
a window are 60° and 45° respectively. If the height of the man is

180 cm and if he is 5 m away from the wall. What is the height of the window ?

(V3= 1.732).

@it 2 mener auigeuls Sumen ewiyib 20 Q. wHmb Sugliyp rb 14 G]& 8
erafléd gem quanaTLIFLIL] WHmID CrESL LDUILTLIeLE STams.

A cylindrical drum has a height of 20 cm and base radius of 14 cm. Find its
curved surface area and the total surface area.

[ $muys / Tun
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40.

41.

42.

| (iv) The sum as 1. . e ‘;ia/g\il@)(p“

~www.kalvi expfess.i n
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484. Q&8 sppereydrar @b WrEmMDGET 2w 105 Q&S erafle, ghu)ﬁan bl

HOTENGUS TGS,

If the circumference of conical wooden piece is 484 -cm then, find its volume

when its height is 105 cm.

@rew® Srren usLsE Wweonwrs Gr Crrsdle a_@L'_l_l'Ju@aélsisrgpm.
(i) @ran® usaLsaiigid @Gr wps LY SoLss

(i) s wLyseiar QumESHUE LST oTaTemTTEs 65

(i) s wHliysefer &@gc’o LS as&urso‘o‘rrr&é; éﬂGﬁ)l_éS&S ‘

(iv) s wilysafier 6%1.@561) 1-95 @@&5 <pflw ﬂasboaé]as@ﬂm ‘r_ﬁ]asgfog,asmasmma;

SHTES.
Two unbiased dice are rolled oncé. Find the probablhty of getting :
(i) A doublet (equal numbers on.both dlce) |
(ii) The product as a Prime number.

(iii) The sum as a Prime number.
VAW W

@@ Lo xy sersHd (6, 4) eramp Letafluiled 2 ereng). (=5, —11) eram yarafludied

L@@ Ureylly eassuulBerarg. yoar Wss Gnéu girb LweiSgst e

2BHs AmbLEDg eaflld, urmol UGHGUSHES Csmaiwmar LTensuder

FOGTLITL_ G5 &HTeTs.

A Cat is located at the péint (6, 4) in xy plane. A bottle of milk is kept .at
(=5, —11). The Cat wishes to consume the milk travelling through shortest

- possible distance. Find the equation of the path it needs to take its milk.

S‘e.n'deuésti on.Pépe’r_' ,/Answer Key%kal viexpress@gmail.com
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u@@ v/ PART - IV
@@uq SHDESZ eflaésEnsEn e weafsseyib. 2x8=16

Note :

www.kalviexpress.in

Answer all the questions.

43. (=) p&CGaramid POR -an &g Lssmsaflan aldsibd % GraTeUTm @ auigCeurss

44.

@égmmm auanys. (Sierey smyanfl g>1) : :
| meukanm@x
élG\)G\)@ | .’,

(=) 6 Q&S QS]LI_(LpamT QLD euanyhg eul L dlen mmu.lg,;_ﬁeﬂ@pg] 8 Q.18
 Ggreveveiier P eremp Yereflenwd Ghléseyd. @iiyarefudemng PA wpmib PB
eramn Q@ QsTHCHTHEE cuanyhg Seunhlen Hermisener iered(Hes.

(a) Construct a triangle similar-to a triangle PQR with its sides equal to % of
the corresponding sides of the triangle PQR. (Scale factor g> 1)
OR
(b) Draw a circle of diameter 6 cm. From a point P, which is 8 cm away from its

centre, draw the two tangents PA and PB to the circle and measure their
lengths.

(1) x2—9x+20=0 Gram FETUT Iq6T eUeTLLID euenyhs) el SIS

Fn 5.
36060
(<) Y= 2% —4x+3-196m euaTULLD auarHs ASET pod x2—6x+9=0 arem
gwenur_ e g grrasa;sqm

(a) - Draw the graph of x?—9x+20=0 and state the nature of their solutlon
d OR ' !

(b) Draw the graph of y=x2—4x+3 and use it to solve x2—6x+9=0.

-00o0-
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